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9’ [eather work boot

‘Eaton price, 499
pair

(13A} 881 — In tough tan Sylflex Jeather by
Tuf Mac’, Leather lined and insulated. With
ail-resistant sole, beltows tongue. Full sizes 7 o
T12.

(DEPT. 737}
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Top quality overshoes

Eaton pricg, 999
pair

Both with frnnt zip, bellows style tangue. Black

anly.

{138} 810 — 10" rubber. Full sizes 7 10 12,

{(13C) 810 — & nylon, Full sizes 7 to 10.
{DEPT. 737}

T0p quallty boots
in tough leather

e o - ' In two popular styles — both pile-lined. Made in Canada specially
h bﬁﬁt by Bata Quallty Shppers for Eaton’s, Black or brown. Full sizes 7 to 12,
99 (13F) 270 — Brown cotton plaid by Kaufman, (13H} 271 — 7" side zip. (13 271 — 2-eyclet tie,
Eaton price, Washable, Foam rubber sole. Full and half sizes Eaton price, pair Eaton price, pair

patr ' 2ol
{(13D) 810 — By WeatherGuard, vinyl with Eaton price,7 99 9 9 9 9
side zip, polyester pile lining, Waterproaofed paicrd =

right up to the zip. Black or brown. Full sizes 7 Eaton's own “Birkdale® in 2 styles. Full and hal{
to 12. (DEPT. 737) sizes 7o 12, |

Phone B61-3111. Eaton’s - Toronto Eaton (Y3IF) 270 — Moccasin style in tan leather with
Centre (1 below) - 2171737, ankda!l.le, Scar- sueded sale, Eaton price, pair 14,99

borough, Sherway, Don Mills, Shoppers’ Ol : - i
Wﬂﬂdﬁ: Hramalm, ﬂ‘:’:hﬂwﬂ, RDCRWUD[L _ ﬁ?gif Ei!'ﬂ ”nsi:gp-f:d ::ﬂu{Ef 8% seneriih
Rexdale, Dufferin, Yonge-Eglinton, Vicloria Eaton price, pair 15.99

Park, Gerrard Square. Dept. 737 also available (DEPT. 237)

at Warehouse Store (Sheppard Ave., W.). ;

Eaton's phone order service open
24 hours daily . . . dial 861-5111.
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